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Service-Specific Connection-Oriented Protocol ( SSCOP ) & Service-Specific Coordination
Function ( SSCF ) TEKEhET,

ATMS T F U TICRZ<<OBEBENrSETNhTVET, ChonBEEBEAEDLES &, UNIEH
TIOTFIIIAYVE—DEERETDE VS BEBE IR ERBICRITT D £ & ICSSCOPH EM
CRADKDSICHEYET,

SSCOP %##f# 9% _ &k, LAN Emulation (LANE; LAN TZ1L—232 ) 954 T NCF
HEhREEEN R 2 EEEILZTNEHEREITDILEONEERNT I 21 —FTa1 20T VY—
LEBYBET, COLDIBEENRETDE, L—BRETOXYvE—220O070ICHALET,

X AR—ADHIRICKY), XROBAHTHIEBOITICRRENET,

Aug 25 18:32:59.973 MEST: %LANE-5-UPDOWN: ATMO.1l elan default:

LE Client changed state to down

Aug 25 18:32:59.981 MEST: %LANE-5-UPDOWN: ATMO0.39 elan admin:

LE Client changed state to down

CORFIXNTIE, SSCOP NERZEIWMWICHBELET, SSCOP7ORIILOF—RI_Y
N(PDU), >—T 2V AES. BLPREEHRZBAITHEMET—TIINZFEALET, RIC.
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ATM B

Y8 : SONET/EE 7> & LB (SDH), DS3, E3,
T &

A—H7TL—>THE RNV BAALISNA RO RNL—F ZRHETDAALST T, SAALIFAALSD
NIVI—>32RkLET, TOEVEE, SSCOPESSCFTHEEEND T —EABAEOIY /N—
SIVABTLAY(SSCS)TT, RORT, chsSOLAVYEHRHALET,

| "User Data" Q.2931 |

| Service Specific Convergence Sublayer |

|
| Consists of SSCOP and SSCF | SAAL |
————————————————————————————————————————————— Layer |
| CPCS | |
| ATM |
| PHY |

ATMAVB—T T4 R, TFVIXv =% TPORNATNI R £FERIBEEOT—X
BEHOTEHEBNCIEEF L ET. EHDOPermanent Virtual Connection ( PVC ; R B E#ES: ) &
AL, $%7%Q.2931 SAAL(QSAALY A 7 EILILR A 72 L E T,

QSAALPVC ZFRETBICIE, ATMIL—R 4 2B —T T4 AT pvcvpilvci AN RERITLE
CP

7500-3.4 (config)# interface atm 3/0

7500-3.4 (config-if)# pve 0/5 ?
ilmi Configure the management PVC for this interface
gsaal Configure the signaling PVC for this interface
<cr> 7500-3.4 (config-if)# pve 0/5 gsaal

Cisco ATMAA Y FIClE, B4 EZ—T7 I A ADQSAALPVCAHSHAUBHEREENTVWET, C
NDTF7 ) NEBEEETERTSIC(E. show atm ve interface atmINY > REFKITL X T,

1s1010-2# show atm vc interface atm 0/0/2

Interface VPI VCI Type X-Interface X-VPI X-VCI Encap Status
ATMO/0/2 0 5 PVvC ATM2/0/0 0 45 QSAAL UP
ATMO/0/2 0 16 PVvC ATM2/0/0 0 37 ILMT UP

SSCOPI&. ITU-T(International Telecommunication Union Telecommunication Standardization
Sector)E)U%'C“E%'c’f NTVWET, Q211081ETE. ATMIL—RA 2 Z—T7 T4 ATNHSSCOPE]
EOREORNZ TS 1 —TFT 42T IIREEETIHEHRINFREEATVET,

- Q.2100 - SAALDOBEZERL X7,
- Q.2110:SSCOPZ7ORIANIVTAT1ELTERLET,
- Q.2130 :\UNIM > B2 —T7 T L ADSSCFZ2E&HL &Y,
- Q2140 NNl > 2 —T7 T L ADSSCFZ2E&HL &7,
- .363 :CPCSZE&L X7,

FE:UNIBEOENNIA 2 R—T I/ ARRERD/N—23 > OSSCFEFEALET. NNIICDWTE
CORFIAIXMNTEFBALEE A,
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SSCOP RL—FOHAWR PDUDRATICK2TERYETH, ThIIODLVTRRROEI> I
FSSCOP MX Y tz—2F 2l PDUL THALET, XORIE, POLLPDU O SSCOP kL —7
ND7F—XY NZ2RLTVWET,

SSCOP Xy +—I %5 WEPDU

SSCOPE15MO XY t—2 B4 7 EIZIEPDUZFERAL TEZ< O#EEZEITL FJ . show sscop
IV RE, RZEETNBEPDUNKICETAMEAIEHRERELE T, XOHABITRE, ATM 1>
2—7IAA30EPDUZ11EZEFELTHY., TOFICE 8 DM POLLPDU & 1 DM BEGIN
PDU AEENTVET,

7500# show sscop atm 3/0
SSCOP details for interface ATM3/0
Current State = Active, Uni version = 4.0
[output omitted]
Statistics -
Pdu's Sent = 11, Pdu's Received = 11, Pdu's Ignored = 0
Begin = 1/1, Begin Ack = 1/1, Begin Reject = 0/0
End = 1/0, End Ack = 0/1
Resync = 0/0, Resync Ack = 0/0
Sequenced Data = 0/0, Sequenced Poll Data = 0/0
Poll = 8/8, Stat = 8/8, Unsolicited Stat = 0/0
Unassured Data = 0/0, Mgmt Data = 0/0, Unknown Pdu's = 0
Error Recovery/Ack = 0/0, lack of credit 0
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SSCOP, ZORIJILNBENTIOT AT I BDEICEROREEZBBH TIREN VICHRVET
o SSCOPA' BIDREIZBITITSZHEEWE. 500 XAN—DEY N (—F) 2HHLET, 12
— 7 IAAREE—RTsscop N RZEZERITLET,

7200 (config-if)# sscop ?
cc-timer timer (in secs) to send BGN/END/RS/ER pdu at the
connection control phase

idle-timer timer (in secs) to send poll pdu at the idle phase

keepalive-timer timer (in secs) to send poll pdu at the transient
phase

noResponse-timer timer (in secs) at lease one STAT PDU needs to be
received

poll-timer timer (in msecs) to send poll pdu at the active
phase

RDFERIC, 520 SSCOP RAN—DHAZRLET,
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SSCOP Z#AX—DTFT 7 # ) MEZRTRTBICIE. showsscopatm X RERITLET,

7500# show sscop atm 3/0
SSCOP details for interface ATM3/0
Current State = Idle, Uni version = 4.0
Send Sequence Number: Current = 0, Maximum = 30
Send Sequence Number Acked = 0
Rcv Sequence Number: Lower Edge = 0, Upper Edge = 0, Max = 30
Poll Sequence Number = 0, Poll Ack Sequence Number = 1
vt(pd) =0 vVt(Sg) =0
Timer_ IDLE 10 - Inactive
Timer_ CC = - Inactive
Timer_ POLL 1000 - Inactive
Timer KEEPALIVE = 5 - Inactive
Timer NO-RESPONSE = 45 - Inactive
Current Retry Count = 0, Maximum Retry Count = 10

n = n

SSCOPL—T 2 AES

ATMA >R —T7 T4 ALDOSSCOP7OtA., 2D —T 2 ABSTLIFREEHZENL .
NS NEZEBROPDUN 7 1 —)LRICYYE>TILET, BEHEMICZIE, SDPDUEPOLL
PDUICIKIEXBESH S5 NETs. showsscop N RiF, —TABSOBRENDEZRRL
E S

ATM# show sscop
SSCOP details for interface ATMO
Current State = Active, Uni version = 3.1
Send Sequence Number: Current = 79, Maximum = 109
Send Sequence Number Acked = 79
Rcv Sequence Number: Lower Edge = 93, Upper Edge = 93, Max = 123
Poll Sequence Number = 32597, Poll Ack Sequence Number = 32597
ve(pd) = 0 vVt(sq) =1
Timer_IDLE = 10 - Active
! -—-- Output suppressed.
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TNy T O H

ROEAF, PA-A3ZFEE L 1275002 1) — X)L — X Tdebug sscop event atm 3/071V > R ZR1T
LTERENEENDTT, BOIX Mddebugh H OB RICEHENET,

*Mar 21 03:18:43.440: SSCOP(ATM3/0): i Begin pdu, Idle state, length = 8
*Mar 21 03:18:43.440: SSCOP(ATM3/0): Rcv Begin in Idle State
( ) :

*Mar 21 03:18:43.440: SSCOP(ATM3/0 receive window in Begin Pdu = 30

*Mar 21 03:18:43.440: SSCOP(ATM3/0): o Begin Ack pdu, Idle state, rcv window v(mr) = 30

!--- A BEGIN PDU is received by the router, which responds with a BEGIN ACK PDU. !--- The window
size V(MR) is initialized to 30. *Mar 21 03:18:43.440: SSCOP(ATM3/0): state changed from Idle to
Active *Mar 21 03:18:47.968: SSCOP(ATM3/0): o Poll pdu, state = Active, n(s) = 0, n(ps) = 1 *Mar

21 03:18:47.968: SSCOP(ATM3/0): i Stat pdu, Active state, length = 12 *Mar 21 03:18:47.968:
SSCOP(ATM3/0) : Rcv Stat in Active State *Mar 21 03:18:47.968: SSCOP(ATM3/0): processStatPdu: ps
1, nmr 30, nr 0 *Mar 21 03:18:47.968: SSCOP(ATM3/0): processStatPdu: vtPa 1, vps 1 *Mar 21
03:18:47.968: SSCOP(ATM3/0): processStatPdu: vta 0, vts 0 *Mar 21 03:18:47.968: SSCOP(ATM3/0) :

processStatPdu: listCount = 0 - normal !--- This is the first outbound POLL PDU and inbound STAT
PDU. *Mar 21 03:18:48.040: SSCOP(ATM3/0): * Poll pdu, ns = 0, nps = 1 *Mar 21 03:18:48.040:
SSCOP(ATM3/0) : o Stat pdu, n(r) = 0, n(mr) = 30, n(ps) =1 !--- The "*" indicates an inbound
POLL PDU from the attached ATM switch. !--- The router responds with an outbound STAT PDU. *Mar
21 03:18:57.292: SSCOP(ATM3/0): o Poll pdu, state = Active, n(s) = 0, n(ps) = 2 *Mar 21

03:18:57.292: SSCOP(ATM3/0): i Stat pdu, Active state, length = 12 *Mar 21 03:18:57.292:
SSCOP(ATM3/0) : Rcv Stat in Active State *Mar 21 03:18:57.292: SSCOP(ATM3/0): processStatPdu: ps
2, nmr 30, nr 0 *Mar 21 03:18:57.292: SSCOP(ATM3/0): processStatPdu: vtPa 1, vps 2 *Mar 21
03:18:57.292: SSCOP(ATM3/0): processStatPdu: vta 0, vts 0 *Mar 21 03:18:57.292: SSCOP(ATM3/0) :

processStatPdu: listCount = 0 - normal !--- This is the second outbound POLL PDU and inbound
STAT PDU. N(PS) and V(PS) !--- increment to 2. *Mar 21 03:18:58.004: SSCOP(ATM3/0): * Poll pdu,
ns = 0, nps = 2 *Mar 21 03:18:58.004: SSCOP(ATM3/0): o Stat pdu, n(r) = 0, n(mr) = 30, n(ps) = 2
*Mar 21 03:19:06.812: SSCOP(ATM3/0): o Poll pdu, state = Active, n(s) = 0, n(ps) = 3 *Mar 21

03:19:06.812: SSCOP(ATM3/0): i Stat pdu, Active state, length = 12 *Mar 21 03:19:06.812:
SSCOP(ATM3/0) : Rcv Stat in Active State *Mar 21 03:19:06.812: SSCOP(ATM3/0): processStatPdu: ps
3, nmr 30, nr 0 *Mar 21 03:19:06.812: SSCOP(ATM3/0): processStatPdu: vtPa 2, vps 3 *Mar 21
03:19:06.812: SSCOP(ATM3/0): processStatPdu: vta 0, vts 0 *Mar 21 03:19:06.812: SSCOP(ATM3/0) :
processStatPdu: listCount = 0 - normal *Mar 21 03:19:07.228: SSCOP(ATM3/0): * Poll pdu, ns = 0,

nps = 3 *Mar 21 03:19:07.228: SSCOP(ATM3/0): o Stat pdu, n(r) = 0, n(mr) = 30, n(ps) = 3 ![---
This is the third outbound POLL PDU and inbound STAT PDU. N(PS) and V(PS) !--- increment to
3. N(MR) remains at 30. N(S), VT(S), and VT(A) remain at 0 since !--- no sequenced Q.2931 "user"

data 1is being transmitted.

debugi H ik, BEOBIFBSREFF—TTISATADZXLDO—EPEL L TEFEE 7=SSCOP X
YVE—DRFYTFYLET, debugdN > ROEITHICshow sscop atmAN > REREICF v
T7F¥ 3L, PAUDEEEPAdUNZEDEEMARTRIENET,

7500# show sscop atm 3/0
SSCOP details for interface ATM3/0
Current State = Active, Uni version = 4.0
Send Sequence Number: Current = 0, Maximum = 30
Send Sequence Number Acked = 0
Rcv Sequence Number: Lower Edge = 0, Upper Edge = 0, Max = 30
Poll Sequence Number = 6, Poll Ack Sequence Number = 6

vt(pPd) = 0 vVt(sqg) =1
Timer_ IDLE = 10 - Active
Timer_CC = 1 - Inactive

Timer_POLL = 1000 - Inactive
Timer_ KEEPALIVE = 5 - Inactive
Timer_ NO-RESPONSE = 45 - Inactive



Current Retry Count = 0, Maximum Retry Count = 10

AckQ count = 0, RcvQ count = 0, TxQ count = 0

AckQ HWM = 0, RcvQ HWM = 0, TxQ HWM = 0

Local connections currently pending = 0

Max local connections allowed pending = 0

Statistics -
Pdu's Sent = 9, Pdu's Received = 9, Pdu's Ignored = 0
Begin = 1/1, Begin Ack = 1/1, Begin Reject = 0/0
End = 1/0, End Ack = 0/1
Resync = 0/0, Resync Ack = 0/0
Sequenced Data = 0/0, Sequenced Poll Data = 0/0
Poll = 6/6, Stat = 6/6, Unsolicited Stat = 0/0
Unassured Data = 0/0, Mgmt Data = 0/0, Unknown Pdu's = 0
Error Recovery/Ack = 0/0, lack of credit 0

7500# show sscop atm 3/0
SSCOP details for interface ATM3/0
Current State = Active, Uni version = 4.0
Send Sequence Number: Current = 0, Maximum = 30
Send Sequence Number Acked = 0
Rcv Sequence Number: Lower Edge = 0, Upper Edge = 0, Max = 30
Poll Sequence Number = 7, Poll Ack Sequence Number = 7
Vt(Pd) =0 vt(sqg) =1
Timer_ IDLE = 10 - Active
Timer_CC = 1 - Inactive
Timer_ POLL = 1000 - Inactive
Timer_ KEEPALIVE = 5 - Inactive
Timer_ NO-RESPONSE = 45 - Inactive
Current Retry Count = 0, Maximum Retry Count = 10
AckQ count = 0, RcvQ count = 0, TxQ count = 0
AckQ HWM = 0, RcvQ HWM = 0, TxQ HWM = 0
Local connections currently pending = 0
Max local connections allowed pending = 0

Statistics -
Pdu's Sent = 10, Pdu's Received = 10, Pdu's Ignored = 0
Begin = 1/1, Begin Ack = 1/1, Begin Reject = 0/0
End = 1/0, End Ack = 0/1
Resync = 0/0, Resync Ack = 0/0
Sequenced Data = 0/0, Sequenced Poll Data = 0/0
Poll = 7/7, Stat = 7/7, Unsolicited Stat = 0/0
Unassured Data = 0/0, Mgmt Data = 0/0, Unknown Pdu's = 0
Error Recovery/Ack = 0/0, lack of credit 0
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- ITU-T User-Network Interface (UNI) Specification
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